[bookmark: _GoBack]CPC of SSU
English Test
Student________________________
Group_________________________
Card 
1. Give Ukrainian equivalents to the following words and expressions and make up 3 sentences using these vocabulary:
a)	freight 
b)	curves
c)	guard rails
d)	crossing 
e)	turnout
f)	boxcars
 
2. Complete the sentences with the missing words given below:  
	This boxcar has too much cargo for its __________. To transport coal, use un __________. A construction ________ provides structural support. Most commercial freight moves by ______________ transportation. If the train goes around the curve too fast, it will _______. A _____________controls the blades by remote.

intermodal, derail, beam, capacity, switch motor, open-top hopper.

3. Match the words (1-6) with the definitions (A-F). 
1 _ steel coil
2 _ bulkhead
3 _ tank car
4 _ boxcar
5 _ lumber 
6 _ flatcar 

A a wall or partition that separates compartments 
B railcar that consists of an uncovered, flat bed on wheels
C large rolls of metal 
D wood cut and finished for construction 
E fully enclosed railroad car
F a railcar that transports liquids like gasoline

4. Answer the questions
a) What are some different types of railway turnouts?
b) What are the different types of railway curves?
c) What equipment is needed to handle intermodal containers?
d) What kinds of cargo are typically sent by train? 
